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PART -1: GENERAL ENGLISH

Read the sentences and choose the right answer and mark it.

1. Prabha feels she is Sarojini Naidu,
(1) a: (23 “the
(3) an (4) no article
2.  Neither Rahul nor I the viction of the last year’s flood.
(1) is @) am
(3) are : (4) being :
3.  There were a lot of its in the insurance policy. What part of speech is the underlined word?
(1) Noun (2) Conjunction
(3) Preposition (4) Interjection
4.  She can solve the problem, 2
(1) Canshe (2) Canher
(3) Can’tshe (4) Can’ther
5. Penicillin (discover) in 1928.
(1) discovered (2) isdiscovered
(3) wasdiscovered ; : (4) hasbeen discovered
6. It’ssodark thatIcan’t see anything.
Change the above sentence into simple sentence.
(1) It’stoo dark to see anything.
(2) It’s too dark for me to see anything.
(3) It’sverydark andI can’t see anything.
(4)- Ican’tsee anything because it’s very dark.
7.  Sheis fond classical dance.
(1) with ' (2) on

(3} for (4) of
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8.  Let me see the picture - change into passive voice.
(1) The picture is seen by me (2) Letthe picture be seen by I
(3) Let the picture be seen by me (4) Let the picture is seen by me

9. Choose the correct sentence.

(1) Towna factory (2) Iamowninga factory

(3) Iwasowning a factory (4) Thave been owning a factory
10. the meaning of new English words in your dictionary.

(1) Lookin (2) Lookup

(3) Look after ' (4) Look into

For [Q.No. 11 to 20]: Read the following passage carefully and choose the correct answer io the
questions that follow.

The controversy over genetically modified food continues unabated in the West. Genetic
Modification (GM) is the science by which the genetic material of a plant is altered, perhaps to-
make it more resistant to pests or killer weeds, or to enhance its nutritional value. Many food
biotechnologists claim that GM will be a major contribution of science to mankind in the 21
century. On the other hand, large numbers of opponents, mainly in Europe, claim that the benefits
of GM are a myth propagated by multinational corporations to increase their profits, and that
they pose health hazards they have therefore, called for governments to ban the sale of genetically-

- modified food.

The anti-GM campaign is quite effective in Europe, with several European member countries
imposing a virtual ban for five years over genetically-modified food imports. Since the genetically
modified food industry is particularly strong in the United States of America, the controversy
also constitutes another chapter in the US-Europe Skirmishes which have become particularly
acerbic after the US invasion of Iraq.

11. What is genetic modification?
(1) Altering the physical characteristics of a plant
(2) Altering the genetic material of a plant
(3) Altering the nutritional value of a plant
(4) Altering the taste of a plant

12. What is the major contribution of science to mankind in the 21* century?
(1) Genetically modified food (2) Multinational corporations
(3) Genetic Modification (4) Pesticides and Weedicides
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13.  Where is the anti-GM campaign effective?
(1) USA (2) Australia
(3) Alloverthe world (4) Europe
14. Choose the ANTONYM of the word ‘benefit’.
(1) gain (2) disadvantage
(3) asset (4) boon
15. Find the word in the passage which means ‘to engage in a minor dispute’.
(1) imposing (2) claim
(3) skirmishes (4) enhance
16. What is the part of speech of the word ‘nutritional’?
(1) Noun (2) Adjective
(3) Adverb (4) Conjunction
17.  According to the passage where does the controversy over genetically modified food
continue?
(1) Inthe West (2) Inthe East
(3) Inthe South (4) Inthe North
18. " Biotechnologist is the person who studies
(1) human mind and behaviour
(2) life style of birds and animals
(3) genetic, chemical and physical attributes of cells
(4) humans and their customs scientifically
19. Choose the Adjective form of the word ‘HAZARD’.
(1) Hazardly (2) Hazardom
(3) Hazardously (4) Hazardous
20. Who called for governments to ban the sale of genetically-modified food?
(1) A few people in Europe - (2) Large number of opponents in Europe
(3) Multinational companies (4) Biotechnologists
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21. Choose the word for the phonetic script given —

/dz"nk/
(1) drunk (2) donkey
(3) jockey (4) junk
22. Find the word that is different from the other words in the group with regard to the sound
of the underlined letters.
(1) mean (2) measure
(3) leisure (4) pleasure
23. Choose the wrongly spelt word
(1) bouquet (2) mischevous
(3) foreign (4) discipline
24. Identify the silent letter in the word ‘DEBRIS’
(1) d 2) b
) 1 (4) s
25. Identify the number of syllables in the word ‘CONSTABLE’.
: (1) 4 2) 3
3) 2 1
26. Choose the meaning of the word ‘ANIMATE’.
(1) Havinglife (2) Havingno life
(3) A creature that has spirit (4) Ofbeing great spirit
27. Choose the word that has a wrongly market stress.
(1) Ability (2) Communi'cation
(3) 'Sort (4) 'Beside
28. Who is the author of the poem ‘The Tables Turned’?
(1) Mark Twain (2) Sarojini Naidu
(3) William Wordsworth (4) H.W.Longfellow
29. In which of the following essays the author says that work is worship?
(1) Incelebration of Being Alive (2) The secret of work
(3) Learning from the west (4) JC Bose
30. Inthe Novel ‘The Adventures of Tom Sawyer’ who plays the villain role?
(1) Huck (2) Muff potter
(3) InjunlJoe . (4) Widow Douglas
V-General English 6




PART -11: ECONOMICS

31. Per Capita Income means

National Income

(1) National Income x Population (2) Pomlstion

Population
3) National Income

SO0 STCHNN ST

(4) Growth rate of National Income

2T HOSTT OS50
22a0°87°

(1) =8osrmrohdn X zaryr (2)

: 2Tve
(3) oAl ZTov e I ARIo VbR oY

32. The Law of Diminishing Marginal utility based on

(4) e=dcirmopd EAAES

(1) Ordinal Utility (2) Form Utility
(3) Cardinal Utility (4) Service Utility
§5'Fod PRraS drodo BAP eEEHASR?

(1) o838 Paraso (2) &rd PRraso
(3) 5835 PRraso (4) Do BRrzso

‘33, What is Gross Domestic product?
(1) The total value of Goods and services produced in the country.
(2) The total value of all the economic transactions in the country.
(3) The total value of final goods and services produced in the country during a financial
ear.
(4) }.[(‘he total value of Intermediary goods in the country.
Sro BITrEB wdm
(1) 28 Q¥oe* &&18 vons Ingo SuIo, DI Jend
(2) 2& BFosS* Bwdo ©g8 SgS5FTre dend
(3) 28 BFoS*Y ©hE JoSTINS* &8 vod Vo8H SHHO DO Jed

(4) 2.8 BFosS™D SEgoss SPe Jewd

34. The process that converts inputs into output is known as

(1) Production (2) Distribution
(3) Exchange (4) Consumption
&S50 SHBT S0y BEDS IB0erdd?

(1) &=8y8 (2) Hoded

(3) SrEES» (4) DBrHS00
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5.

Identify the wrong one

(1) Wealth Definition - Adam Smith

(2) Welfare Definition - Marshall

(3) Growth Definition - Jacob Viner’s
(4) Scarcity Definition - Lionel Robbins

& 800 T°8S® J05°0 T HDBowod.
(1) ®od8 Jdgsdo - wd NS

(2) %085 JBgSS0 - SrES

(3) $)8 dgusSo - ES N6

(4) &8 J8gSs0 - ©RNIS TAY)

36.

Wants satisfying power of a commodity is known as

(1) Money (2) Satisfaction
(3) Utility (4) Consumption
Fofod Jody Bobre 3XYH FoTER) JB00rdd?

(1) &sgo (2) Dosyn

(3) @Irzso (4) JAR>rHo

37,

When total utility is maximum, marginal utility becomes

(1) Marginal utility falls (2) Negative
(3) ZERO (4) Increases
3do PAraso KoRom GlIyd, Grod Rras0

(1) &Fod PIr=do 808 (2) Serdgo
(3) #sg0 ' (4) DEK&E08

38.

The Law of Equi-marginal utility is also known as
(1) H.H. Gossen’s first law

(2) J.M.Keyn’s second law

(3) H.H. Gossen’s second law

(4) J.R.Hick’s firstlaw

SBr>od HAFRS DToe IS Ko SOBNE DK
(1) HH. moS @65 dovgo

(2) JM.8]) Bods domgo

(3) H.H. w2 Bodsd dgo

(4) LR &5 @é% o
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39. Relationship Exists between the price and the quantity Demanded of a commodity

(1) Positive (2) Negative

(3) ZERO (4) None

w8 INY) F68, T AdIrod H0IreTrA8 JdHod Jowogo Gotnwod?
(1) d&ggo (2) &oerg B0

(3) #Sgo (4) 2850

40. The Law which states that what will be response of output when all inputs are increased in
a fixed proportion?
(1) LawofDemand
(2) Law of Supply
(3) Law of Variable proportion
(4) Law of Returns to scale
“&B 5657008 28 VHFS0S* DONSHYE: ﬁén)e? sose S5, 88 Sodg
&) 0205 & drgo S0H08?
(1) &3>0k Smgo
(2) dPHow dorigo
(3) JgOVEOE 8 Jeo
(4) 655505000 P8STe drBo

41. Indifference curves are always to the origin

(1) Tangent (2) Convex

(3) Negative (4) Concave

STOSE SEdpen JOIPEr SreodoYK o Gotron?

(1) SSrosgdSnm (2) soogrstgom

(3) Serggsomr (4) Herssomr

42. Average product
(1) Total product x No. of Workers (Z2) TP ~TP.5
3) No. of Workers employed 4) Total product
Total product No. of Workers employed

den G\ !

(1) 3go 588 x T Jopy (2 TPe~TP
T80 Sopg 3ngo 8\8

() Sngo g 4) @ dopg
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43.

Who introduced the concept of scarcity rent?

(1) Alfred Marshall (2) J.S.Mill
(3) Adam Smith (4) Joan Robinson
588 %o S5 S5 @3%‘&&33‘60?
(1) s5@& $rd5 (2) JS. &
. (3) waS S 4) =8 THSHS
44.  Who propounded the famous law of market “supply creates its own demand”?
(1) A.C.Pigou (2) J.B.Say
(3) J1.S.Mill (4) Alfred Marshall
35050 85 AS3robH &3 B)RoHE0E08” SrB)E B IS JFNoTE?
(1) AC.28r (2) JB.®
(3) 1S .28 4) ©EBE 5r6s '
45. 'Who wrote the famous book “Wealth of Nations’’? .
(1) J.M.Keynes (2) Alfred Marshall
(3) Robbins (4) Adam Smith
D978 FodS “orrgw H038” ©F KorR) IS EDowrds?
(1) IM.&S (2) sSR& 85
(3) oAy (4) wdd S
46. Primary Deficit :

(1) Total Revenue — Total Expenditure
(2) Fiscal Deficit — Interest payments
(3) Total Revenue + Total Expenditure
(4) Revenue Receipts — Revenue Expenditure

PEE S0 oS :

(1) 3o sraden — Ingo Sgosren
(2) S5 S'n - 5§ BYoHen
(3) Bwo Tades + Iudo Sgaire
(4) °Idrg Traden —BISorg Sgosren

47.

In which year “Reserve Bank of India” was established?
“erges Ba8g a‘soéa”:&a o Jos&HEsnes*® DU:)&J.) DTE?
(1) 1935 (2) 1945
(3) 1949 (4) 1950
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48. Budget in which the total Expenditures and the total revenues are equal?

(1) Balanced Budget (2) Surplus Budget

(3) Deficit Budget (4) None

Bodo Traatien, 303520 Sgosren dSrSomr &) SR IH0Erd?
(1) 0898 288 (2) Diben wges

(3) &0 2g8&s 4) Wbs~&o

49. Find the Arithmetic mean for the data 30, 20, 32, 16, 27
30, 20, 32, 16, 27 © @085ggs00 dod?
(1) 28 {2y 25 (3) 30 (4) 20

50. Formula for Relationship among mean, median and mode
(1) Mode =2 median + 3 mean
(2) Mode =3 median x 2 mean
(3) Mode =3 median — 2 mean
(4) Mode =3 median + 2 mean

©0oE50Pg0, Fgrdsn ook wFvdio gghe Soword) 8D Jogo.
(1) =rdoddo = 2 Hofgresn + 3 wosdoggoo
(2) erdodso = 3 BoGgREsn x 2 wosSggoo
(3) erdveEo = 3 Sogghesn — 2 ©oEHggo0
(4) erdodso = 3 SoggHESn + 2 woESEgsoo

51. The Government of India has established “NITI Ayog” to replace the
(1) Human Rights commission (2) Law commission
(3) Planning commission (4) Finance commission

88 Hehétsn Q Dodko THoS® "8 sRrf K Joyin DOXE?
(1) S35 T8y dodvo (2) e Jodoo
(3) D@5 Dooo (4) @88 Joo

52. Period of “Plan Holiday”
ReTrPs® JoHo FreHw

(1) 1990-92 (2) 1966-69 (3) 1978-80 (4) 1992-95
53. Who introduced the concept of “Human Development Index”?

(1) Paul Samuelson (2) Morris D Morris

(3) Mahbub-Ul-Haq (4) James Tobin

“SrSTDS)n JrdE” oI IS B3 DYSTH.

(1) S THorgdds (2) 3°65.8.378%

(3) Sofrars-aS-5§ (4) BSy &0S
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54.  Which is not the characteristic feature of developed country?
(1) High per capita income (2) Better quality of life
(3) Low level of unemployment (4) Dual Economy
©DI)3 BodS B0 oFwo 5B IB?
(1) ©88 00 smrobo (2) DS 258 HSreo
(3) 8598 Fons® Ibh&gHo (4) 88 dgodsdsson

55. The term which refers to progressive changes in the socio economic structure of a country
(1) Economic Growth (2) Economic Development
(3) Under Development ‘ (4) Unemployment
3% arons, ©gs JoRSNS® Kogdod BBl Srdywl Brdowss
(1) B8 J)B (2) 8857 HI)3

T (3) 3okerén 550 (4) d%&'gKo

56. Sarva Shiksha Abhiyan was introduced in the year
JEGBE OHATS HEFW) O DoSHBS0S* PHIE DEp?
(1) 2002-03 (2) 2001-02
(3) 2004-05 (4) 2009-10

57. The term Birth Rate Refers to

(1) Number of birth per thousand population

(2) Number of birth per hundred population

(3) Number of death per thousand population

(4) Number of birth per one lakhs population
2358805 ArDotHsd 8?2

(1) ©8 Jong 508 25" JodH0d Yh&ITE
(2) ©8 S08 5008 TS JodHod YT
(3) ©8 JowgHod TS’ JodH0d IV
(4) ©8 ©f 08 2T S* JodH0d YT

58.

Calculate the Range for the data

20, 25, 29, 30, 40, 42, 56, 62 and 80

& Bod deroFos’ Ignd Hedood.

20, 25, 29, 30, 40, 42, 56, 62 So8cs 80

(1) 50 (2) 60
(3) 40 (4) 80
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59,

The largest port in Andhra Pradesh

(1) Krishnapatnam port (2) Kakinadaport
(3) Visakhapatnam port (4) Gangavaram
BoFHBT THoS* v8DY L.dBY

(1) Spdeno 2) séxd

(3) dTpdino (4) HorS8o

60.

What is the total literacy rate in Andhra Pradesh as per 2011 census?
2011 z3rer BE© ($5°60 WOEHET Ingo BET VLS T Jod?

(1) 74.36% (2) 52.78%
(3) 62.14% (4) 67.35%
61. DeenDayal Upadhyaya Grameen Kaushal Yojana (DDUGKY) programme was launched on
(1) 15™ August 2015 (2) 25% September 2015
(3) 25" September 2014 (4) 15% August 2010
BIEASrE gl (T Fio Grad HEESn JIyd Féodomrd?
(1) i 15, 2015 (2) o6 25, 2015
(3) Ro=xb 25,2014 (4) w83 15,2010
62. *“Disguised unemployment” in India is mainly related to which sector?
(1) Agriculture sector (2) Industrial sector
(3) Service sector (4) Private sector
“@’3:5()56; ad)ﬁ‘sﬁé” 08 BdosS® 2 o8 BodIH?
(1) SgSarad Soifo (2) J/EFdoe SoKo
(3) wasoio (4) (IS Bodo
63. The objective of “Twelfth five year plan” is
(1) Human Resource development
(2) Inclusive Growth
- (3) Faster, sustainable and more inclusive growth
(4) Poverty Eradication
125, H0u58 @e@8 wggo A7
(1) 338 5380 ©I)Q
(2) Jdp28 33
(3) D58, DS 50t BALE S)H
(4) 2608 ddrod
64. Inwhich year Government of India implemented “New Economic Reforms™?

T8 (HghetBn ) DoSBos® “KordS ©Q8 Doy Beoen” DI EPE?
(1) 1985 () 1991
(3) 1975 (4) 2005
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65.

The process of development which sustains the human wellbeing in future also
(1) Economic development (2) Human development

(3) Resource development (4) Sustainable development
TOSE0SErE SrSS B0ESrY) Foorr EIFAOSKOA 0D HIE.

(1) =85 (2) Sr37958

(3) S3%0 5B : (4) PEPS ©ANG

66.

In India Special Economic Zone (SEZ) act was passed in the year
TESBESNS® ©HBgE ©E Sooke) Syt D JoSHBSnS* BTE?

67.

(1) 2000 (2) 2005

(3) 2009 (4) 2010

The process of integrating the domestic economy with the world economy is called

(1) Liberalization (2) Privatization

(3) Globalization (4) Urbanisation

37 688 g5, Bhod ©gE S5I8E" whdorrdsn DD PEH DBotrsr?
(1) 36988 (2) (PIBEC=

(3) BdonEsw (4) H&edsse

68.

In which year Kisan Credit Card Scheme was introduced?

8>S BAS 58 HEESNK O DoSSEINS® DI DELEH?
(1) 1995-96 (2) 1998-99
(3) 2000-01 | (4) 1990-91

69.

The first five year plan gave importance to

(1) Agriculture sector (2) Industrial sector
(3) Private sector (4) Service sector
00658 HoWSE P @8 2 Gorrdd (el aod.

(1) Sgdras Sodfo (2) BEFE Joifo
(3) I8 Goro (4) Dbgdo Soio

70.

In which year was Government Nationalized 6 Commercial Banks?
D HoSHBB0S* He0Eto 6 Fedug wrgote 8o Bdod?
(1) <1951 (2) 1969

(3) 1980 (4) 2000
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PART - II1 : HISTORY

71. Numismatics deals with
(1) Forts (2) Coins
(3) Kings (4) Queens
SorgoamiBise SowoHodN 2050
(1) Seen (2) ~@BSoen
(3) oeren (4) ore0en
72. Harappa civilization was first discovered in
STy THBES Jndbomr ERY) JoSg)8s0
(1) 1821 (2) 1921
(3) 2001 (4) 1947
73. Vedic literature consists of how many Vedas?
38 FrEgo Q) e IFLoD2ESH?
(1) 4 (2) 6
3) 8 (4) 16
74. How many Mahajanapadas are there during 3™ century B.C.?
E.9r. 35 forgos® BoRYS DT ESHTE A?
(4 () 8
(3) 16 (4) 32
75. Who was the 23" Tirthankara of Jainism?
(1) Rishabhanatha (2) Arishtanemi (3) Parsvanatha (4) Mahavira
28 Ddo’ 235 égoéodaéo RIE?
(1) dBaga gk (2) 833 (3) TGk (4) JoFEAKE
76. Which of the following leader proposed the Astangamarga?
(1) Parsvanatha (2) Vardhamana
(3) Suddhodhana (4) Gouthama Buddha
ool Irddndd DAFBoNITE?
(1) egardody (2) SgSrdodd (3) DS (4) FESo088
77. Who was the author of Mudrarakshasa?
(1) Kautilya (2) Megasthanes (3) Vasumitra (4) Visakhadatta
ST ES0 ol SSand JSE?
(1) TSeogto (2) BKZDB (3) Stk  (4) drpdeyd
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78. What was ‘Kantakasodhana’ during Mauryan Court?

(1) -Civil Court (2) Criminal Court
(3) Women Court (4) Market
ToHgo FgodFTos” ‘BoBEF BN’ edm
(1) 23S &§ (2) BSS &G
(3) Sorde §'G (4) Sro &

79. Who was the first Indian astronomer to discover and declare that the earth rotates round its
axis?
(1) Aryabhatta (2) Brahmagupta
(3) Varahamihira | (4) Charaka
Frd a8 BggeS* toodorm BEHHEHEY TS 048 880 pH'Y a‘gfjg‘é DIE?
(1) e Q) PR
(3) 30T st (4) =858

80. Who was the foreign traveller visited during Harsha time?
(1) HiuenTsang (2) Fahien
(3) I-Tisng (4) Mao
TED w0 $068)oDS B BBk 58?
(1) SocsSrsenoh (2) Foroirs
(3) =2&ohf 4) S5

81. The Tamil grammar work ‘Tolkappiam’ was composed by
(1) Tiruvalluvar (2) Tolkappiar
(3) Shanmugham (4) Sattanar
EDoS® TgEdm KoGED ‘o0’ SHond ISEH?

(1) 8%denas (2) Fopsrs

(3) Qevffo (4) 386

82. The author of Suhrullekha was?
(1) Hala (2) Gunadhya
(3) Nagarjuna (4) Kuthuhala
©oToRhpdo Hod SWond ISKH?
(1) Stendd (2) Hoerrgogdod
(3) smridd (4) Hodrderd
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83. Chola’s rule was famous for

(1) Local self government (2) Dictatorship rule
(3) Aristocratic rule (4) Communist rule
Sho Fos 38 Bvg?

(1) A1 BgHoFOs (2) Ddok¥ Fos

(3) or2dE Fod (4) BlrgdPe Fod

84. The ‘Age of Delhi Sultanate’ ruling period was from
“88 2e3E Ko’ o seo

(1) 1206-1290 (2) 1206-1526
(3) 1526-1707 : (4) 1526-1857
85. Who was the only Muslim women to rule over India?
(1) Mumtaz Begum (2) RaziaSultan
(3) NoorJahan (4) Jahanara Begum
TESBTR) FO0DS JIBE SN0 HoWrY ISK?
(1) Swoerd &Ko (2) d2csr s
3) 8 =258 (4) =draor Bko
86. Who is the greatest ruler of Delhi Sultanate Kingdom?
(1) Balban ‘ (2) Alauddin Khilji
(3) Muhammad Bin Tughluq (4) Ibrahim Lodi
39 DendS oTagos® FHy S J5K?
(1) =reye (2) ©eHES 9§
(3) SoTms S HHs (4) apsro &%
87. Which of the following instrument is the result of the blend of Indian Veena and persian
tambura? _ :
(1) Tabla ' : (2) Shehanai
(3) Sitar (4) Violin
2080508 Je HBOI DYADS FowrTr JiFSos® EES Tondgo I6?
(1) geer (2) adTow
(3) oo (4) &00ds
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88. What s the Iqta system?

(1) Province (2) Instrument
(3) Minister post (4) Court
Q50 VI I0?

(1) @>aE dero (2) sondgo
(3) o0& 38D (4) srgodoardo

89. Urdu language was the product of
(1) The mingleness of Sanskrit with Persia, Arabic and Turkish words
(2) Itwasa Sanskrit language alone
(3) Religious language
(4) Women language
&8y TR ol
(1) 2805, @8BS, L), dTod’ o A SBoy¥so
(2) JoHs i SoED
(3) Soderd
(4) SDoTrde rd

90. The last ruler of Delhi Sultanate was

(1) Muhammad Bin Tughluq (2) Balban
(3) Md. Ghori (4) TIbrahim Lodi
D50 38 WIS BESG S5K?

(1) So5ms HS SNk (2) ey

(3) %S 35 (4) apiro &%

91. Name the war which paved the way for the foundation of Mughal dynasty in India?

(1) First Panipat War (2) Second Panipat War
(3) Third Panipat War (4) First Carnatic War
2.)‘663%’06"_ J08S Sod s?;;;’a:&éo TSI oﬁngo.

(1) P58 3358 csogo (2) Todd FPHE cSogo
(3) Hrds FIHE oogo (4) 35S Somws ciugo
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92. What is the original name of Shersha?

(1) Sherkhan (2) ShershahSur (3) Farid (4) Babur
26 > wHen HOW?
(1) =6 978 (2) “Qabar o6 (3) $6&6 (4) erab
93. Who was the emperor who proclaimed Twelve edicts?
(1) Akbar (2) Humayun (3) Jahangir (4) ShahlJahan
12 orifyeo HEB0DS HESY
(1) o6 (2) SodSrosare (3) =50hAd (4) =SS
94. Buland Darwaza was built by
(1) Shershah (2) Akbar
(3) ShahlJahan (4) Jahangir
008 8oy ABPPAS T8 ISKH?
(1) b (2) ©&6
() =S (4) =50h6
95. 'What was the religion established by Akbar?
; (1) Sikhism (2) Jainism
(3) Buddhism (4) Din-i-illahi
©$)5 THoDS Hodo D&? _
(1) 3sydo (2) B0
(3) FgHodo (4) &-z-muwr
96. Who were Astapradhans? .
(1) Eight paths to obtain Moksha (2) Court poets of Krishnadevaraya

(3) Ministers Council in Shivaji Court  (4) Eight directions
¥y P ol

(1) 3o FosTA8 VB Sroren (2) ERBSTohe FoHS oy dXaren

(3) 3>z Fendhes® Soohen . (4) o3 b8y e
97. Who was the second founder of Maratha empire?
(1) Shambhuji ’ (2) Sahu
(3) Balaji Vishwanath (4) BajiRao
BTy dErEg Tosd PHRAT BRGEE,S T,
(1) Sogirst ) v )

(B) wod JiTE (4) wrford
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98. Which of the following war was a set back to Maratha’s Power?

(1) = Third Panipat War (2) Second Panipat War

(3) First Anglo-Maratha war (4) Second Anglo-Maratha War

SooEe e85 T wr Bepbds .

(1) Sards >HE wsogo (2) Bods FHE csogo

(3) 3068 wolf-Ssovee asgo (4) BodS soif-SHovee csngo
99. What was the theory propagated by Shankaracharya?

(1) Dvaita - (2) Advaita

(3) Vishista Advaitha (4) Atheism

fosTrirdogen (R8rHoDI Drodsn 28?

(1) @kso 2) 3o

(3) 23] wgcdo (4) ~E>&o
100. Who was the first women ruler who ruled over Andhra region?

(1) Lakshmibai (2) Rudramadevi

(3) IndiraGandhi (4) Sonia Gandhi

0§ |Poey) FDoS INEE K¢ Frosioren.

(1) ofgaron (2) &HBHED

(3) =080 mod (4) 0% mod

101. Who was the founder of Sikhism?

(1) Ranjit Singh (2) RajalJaiSingh
(3) Gurunanak (4) Kabir
DEY, Hod FIoen ABE?
(1) Goz& Dol (2) o 20%d0h
(3) HKtoaSE (4) &d&
102. What were the Vijayanagara dynasties which ruled over Deccan region?
(1) The Sangama, the saluva : (2) The Sangama, the Aravidu
(3) The Sangama, Saluva, Aravidu (4) Sangama, Saluva, Tuluva, Aravidu
S8 PESBTR) FOODS JBONSAKE FErag SoTew ID?
(1) BohS, FHS Sowen (2) %oKS, D% SoTen
(3) Botis, ;HS, ©Eddk Soren (4) HolSo, FHS, 65, ©6dE SoTen

\
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103. The war which was paved the way for East India company foundation in Bengal province?

(1) Camatic wars (2) Plassey war
(3) Sikhwars (4) Buxarwar
BomrS U‘@oﬁ‘ &ty Rododr IEE Joavo ﬁga’):&éo ETEH88 o‘d}:go.
(1) Sgotof osoogren 2 5 oo
(3) 359 cSwgren (4) w0 Swgo
104. Who was the founder of Arya Samaj?
(1) Annie Besant (2) RajaRam Mohan Roy
(3) Dayananda Saraswati (4) Veerasalingam Pantulu
ey Jiore FOHD JHEH?
(1) ©d80E (2) oz oo Irdre oPoD
(3) &osrdods H8Hed (4) IDB¥doKo Hoen
105. Who was popularly known as “Grand old man of India”?
(1) MK Gandhi (2) J.L.Nehru
(3) A.O.Hume (4) Dadabhai Nauroji
TESBEY B ST BHGEE, ST :
(1) cHH3E. mod (2) B.oHS. JHo
(3) Q&dwgd (4) ooarod Fo'2
106. Match the following.
A B
1)  Father of Indian Reform movement a)  Sardar Vallabhbhai Patel
ii) Indian Bismark b) B.R. Ambedkar
iit) Father of the Indian Constitution ¢) MK Gandhi
iv)  The father of the Nation d) Sarojini Naidu
v)  Nightingale of India : e) RajaRam Mohan Roy
1808 3R 2S$DHLES0.
A B
i) r880H JodoH e g DerSodvds a) S8 Sperd HBS
i) =o&aDS AFG), b) D.ub. ©oBKS
ili) 88 oargol Derdodoudd c) oHH3B. mob
V) grddard hHerSodudd d) J&2d Tasndd
V) rdd K958 e) oE od IR 0D

(1) (i)-e, (i)c, Gi)}b, (v)a, (v)-d  (2) (i)-e, (ii)-a, (iii)-b, (iv)-c, (v)-d
3) (ye, ()b, (i), (v)-a, (V-d (@) (e, Gi)a, Gi)-b, (v)d, (v)-e
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107. The policy of ‘Subsidiary Alliance’ was followed by
(1) Dalhousie (2) Canning
(3) Wellesley (4) Warren Hasting
Py 85EE HE8J FBodd T
(1) &g, (2) sQoh

3) ebd (4) T6S Iroh

108. Who was the French emperor of the beginning of the French Revolution?
(1) XVILovie (2) XVIIILovie
(3) Napoleon (4) Bismark
(0D dSo (oo T8 (IR VESY ISEH?
(1) 165 esrcxr (2) 185 evrour
(3) IFdcH (4) a8,

109. Who was the father of Germany Unification?
(1) Napoleon ' (2) Hitler
(3) Bismark (4) CountCavour
260 D86 DeroTud ISE?
(1) IS (2) &b
(3) a8, (4) To& 836

110. When did the UNO was established?

(1) Oct. 24, 1945 (2) April 4, 1949
(3) May 1955 (4) Dec. 8, 1985
ai0.J3.2 (28502gdN8) BIGDAS Jodg)do

(1) &6 24, 1945 (2) WSS 4, 1949
(3) 31955 (4) &%o=65 8, 1985

V-History 22




PART -1V : CIVICS

111. The word “Politics” is derived froma _ Greek word.
(1) Policy (2) Polis (3) Polite (4) Party
“POBE” w HBo (K TISW A o Hod KroSwsod?
(1) Fod (2) 208 3) 88 4) >8
112. “Political Science deals with the Government” described by
(1) J.W.Gamer (2) Appadorai
(3) Stephen Leacock (4) Arstotle
“ald8 Y008 Hehdto Kbod wEgoho T THo  ©X)TVIKH?
(1) E.émﬂ.m@&‘ (2) OIED
(3) Y»S OsF (4) ©BFBS
113. Which is not the element of the “State?
(1) Population (2) Territory (3) Government (4) Socialism
& Bod T8S* Trago G vf@o 5ARE?
(1) =z=oye (2) $d% (3) Hebdgo (4) FSogado
114. ‘The Theory of One Nation-One State” become popular after the war.
(1) World War I (2) World War Il
(3) Russia-Ukraine War (4) Gulf War
‘28 @8-23 Toago” ©I dodo J wgo Sogd @udge Fodod?
(1) 3068 BHots osngo (2) Bods EBHos asugo
(3) Srg-eEons cSngo (4) ﬁeSb Bngo
115. The word “Lag” belongs to language.
(1) Greek (2) Latin
(3) Teutonic (German) (4) Spanish
“erf’ @3 B0 2 TAK BodIB.
(1) @G§ (2) ord
(3) ¢0gerdE (z28)9) 4) &va .
116. Those who are not the Individualist?
(1) J1.S.Mill (2) Adam Smith
(3) Spencer (4) Bakunin
3538 @Rrad 57 TO Hfowiod.
(1) B.I89.0S (2) wdo &
(3) %6 (4) 25728
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1§ &

Who defined “Liberty is the opposite of over government”?

(1) JR. Seeley ' (2) Gandhi
(3) T.H.Green : (4) Barker
‘0805 @L0e(8 SgBOEIID 5" ©)BIE?
(1) Resb 5O (2) m™od
3) &8 6 4) =6

118.

The leader who led the revolution against the “Czar” rulers in Russia?

(1) Mao (2) Socrates (3) Lenin (4) Stalin
SargS* “8” BEIROD DS TS T ASE?
(1) S>5° (2) E8S - (3) 8BS (4) o

119,

In which year did the French Revolution take place?

Q JodHos® (wod IdSo 2dAB?

(1) 1766 (2) 1789
(3) 1947 (4) 1798

120.

The universal Declaration of Human Rights came into force on

(1) December 10, 1948 (2) August 15, 1947
(3) January 26, 1950 (4) October 1, 1953
DHSrIS TEY© HELS ) 88 008 VIS I8 IY0B.

(1) &%o=6 10, 1948 (2) i3 15, 1947
(3) =358 26, 1950 (4) o861, 1953

121

Which is not a Political Right?

(1) Rightto Vote (2) Right to contest in the Election
(3) Right to hold public oﬁiée (4) Right to life

ozlcdh T8y S8 28?

(1) &en Iv T8, (2) QST I8 T Ty,

(3) B HEHeo Fod FTEY, (4) 2£dod I8y,

V-Civics 24



122. “Justice means speaking Truth and paying one’s debts” defined by

(1) Aristotle (2) Barker
(3) Polemarchus (4) Cephalus
“Irgofo ©ol P8 WS> dergd) Jesdo, aBHUK TS asEe” W IS
Q80T E?
(1) ©oxp8S (2) w8
(3) FOSrER (4) 3ol
123. The philosopher who separated “Justice” from “Religion”.
(1) Kant (2) Hobbes
(3) Aquinas (4) John Locke
TgOSrR) Sodo Hod I V1S TuAd 8038,
(1) sro&§ (2) 5
(3) w8ga 4) = of
124. “Jus Sanguinis” refers to
(1) Kinship (2) Place of Birth
(3) Alian (4) Marriage
‘2l 30K B JrdRod.
(1) &8 Soxogo (2) JGS B0
(3) ddscsnd 4) daSo
-125. According to whom “Democracy is a pefverted form of Government”.
(1) Aristotle (2) JohnRawls
(3) Nehru (4) Tilak
BB SyNS® Heragdogo ol S Sodain SE @ fo 70 Fodm Sgowrd.
(1) vdx8S (2) = o)
3) IFw (4) ©of
126. Which is not a Direct Democracy Device?
(1) Referendum (2) Initiative
(3) Recall (4) Publicity
REgE Py FETos” BAB.
(1) Perdrod wESe (2) EeErProd AISS
(3) HS3TcHSo ' (4) @ado
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127. Who proposed “Two Nations Theory”?

(1) A.PJ.Abdul Kalam (2) Muhammad Ali Jinnah
(3) Muhammad Igbal (4) Maulana Azad
858 drodo” PEIFBODE T ISE?
(1) 22 oS seoro (2) oTHps ©d z2a)
(3) HoFTsns asns : (4) ST srd
128. Example fora “Secular State”.
(1) Iran (2) India
(3) Afghanistan (4) SaudiArabia
T8 ooargR8 wf ST
(1) =xos : (2) =0&csr
(3) 3PS (4) & «odosr
129. Which country has Unwritten constitution?
(1) India (2) USA
(3) United Kingdom (4) Pakistan
2 8906 ©dPE Toargorfio BHeNS* Gob?
(1) =0&cs (2) ovés
(3) BIBE 8ohdo (4) &>8&S

130. According to Aristotle’s classification of Governments ‘A country ruled by Few” is known
as

(1) Aristocracy (2) Democracy (3) Monarchy (4) Polity
©BFES Fégod’ I Pebed) wonT FY H08 HBFDoDSLoNE Q) O Pebdsorr
RO E? :

(1) %d%eo o8 (2) Gwagige (3) oubso 4) >0

131. Who is the Chairman of constituent Assembly of India?

(1) Dr. B.R. Ambedkar (2) Dr.BabuRajendra Prasad
(3) Sarvepalli Radhakrishnan (4) Sardar Vallabhbhai Patel
TES oergoll DY ey 258?

(1) =E6 D.e6. woB&YS (2) =E6 oo BE

(3) 8559 TEERS C(4) 336 SuwrdD HBS
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132. “Rule of Law” was adopted from which Country’s Constitution?
(1) USA. (2) England
(3) France . (4) Germany
2 GF oargofio H0d “JPorgah FeSH NgEdoBLe 2BA0B.
(1) oos (2) =omro&

3) @& (4) =6

e

133. The person who elected as President of India from Andhra Pradesh?

(1) P.V.Narasimha Rao (2) Y.S.Rajasekhar Reddy
(3) Neelam Sanjeeva Reddy (4) R.VenkatRaman
SOGHBT $008 INNFES FES THHS ISE?

(1) 29.9. S8doITTY (2) I.00%. o2dps B
(3) Qewo Do 3G (4) ©6. J08&T"H0S

134. Article 352 deals
(1) Economical Emergency (2) National Emergency
(3) President’s Rule (4) Political Emergency
3525 HE8e Q wodo KBod BenPErod?
(1) o988 wdgdds J038 (2) =r80H wEgSI8 HoR8
(3) ogd8 Jod (4) oaloh w8gsvs H058

135. Which Article of Indian constitution Abolished Untouchability?
(1) Article 17 (2) Article 20
(3) Aurticle 21 (4) Article 71
T8 ma«goﬁoé‘a D VOGS YoLTASIYY) Jwabodod?
(1) 175 HE6e () 208 ©8S
(3) 215 SE6e (4) 715 B8
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136. Directive principles of state policy included with

(1) Socialist principles (2) Liberal intellectual principles
(3) Gandhian principles (4) Alltheabove
Bod T8S* wTE JovEren IV O Hotrown.
(1) >Sgars SeEgren (2) sd>s Sogren
(3) mogdcH daHSren (4) 23
137. Who is the present President of India?
(1) Pranab Mukherjee (2) Droupadi Murmu
(3) Pratibha Patil (4) M. Venkaiah Naidu
BRS TS THHS SK?
(1) @b Sop§ (2) @98 S0y
(3) ®8z >85 (4) do. Sosowy Tkl

138. How many Lok Sabha seats are there in Andhra Pradesh?
©BRFo BoFRBTS* &) SEIY PTo Dopg
(1) 52 (2) 30
3) 25 4 17

139. “Habeas Corpus” means
(1) A person to appear before the court (2) We command

(3) To forbid (4) To be certified
OO BER” esm _
(1) 3580 8 B0 BIFYEo (2) Fosdn sapdigaysen
(3) JadotHdd (4) &yWEdosRETd

1-&). Who presides over the meeting of joint session of Parliament?
(1) Prime Minister (2) Lok Sabha Speaker
(3) President (4) Vice President
SeasH Seo Soding SIrBTIE IS OEGES STAE?
(1) SFsSos (2) o&'6%e 86
3) ogse . (4) asogoss
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141. Who was the first Chief Justice of Supreme Court?

(1) Patanjali Sastri (2) M.C.Mahajan
(3) S.R.Das (4) H.J.Kania
TES o@oE'E &9 .@c"é JgODBTE DS5EH?

(1) Jgozd R (2) Q0.2 oSt
(3) Neb. o ‘ (4) 53 508

142. The Judicial Review is adopted from the constitution of

(1) USA. (2) Canada
(3) France (4) England
‘g JE” TR O BF oargorio H0d HyEdoE0H?
(1) o365 (2) sd@
3) @S (4) ool
143. Among the four Vedas, which one is oldest?
(1) SamaVeda (2) YajurVada
(3) RigVeda (4) AtharvaVeda
Teoth BTest @H5PIE 267
(1) S 3o ' (2) ord IS0
(3) =wigso (4) &8s 3do
144. In which dynasty “Village Panchayat’s flourished in the medieval period?
(1) Choladynasty (2) Cheradynasty
(3) Pandya : (4) Kakateeya
Soggasnto T8 J TR0 FoT FRS” (T DoTond Sg5Y @EDoN0H?
(1) S'exn (2) B8
(3) 53'065.5 (4) s"88c%

145. In which year the 73" constitutional amendment act was made?
735 orergorl 58 @ Dodd)os® 20A0B?
(1) 1990 (2) 1992
(3) 1994 . (4) 1996
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146. Which Committee made recommendations er Local Self Government?

(1) Ashok Mehta Committee (2) Balwant Rai Mehta Committee
(3) Sarkaria Commission (4) J.V.P. Committee |
ZIE JgH0FOT Doge TN HEFBoDS ENE IB?
(1) ¥ DFe 08 (2) wogedorod e E8
(3) Dobcsr EAS (4) B.2.D. 08
147. Who conducts the Elections in India? :
(1) Finance Commission (2) Planning Commission
(3) Election Commission (4) Sarkaria Commission
T ESTF0S" IYBeo ISH B AE?
(1) =88 Sooo (2) Heords Doo
(3) Ao Ddodo . (4) So7b8a%e doavo
148. Who is the Present Governor of Andhra Pradesh?
(1) Biswabhusan Harichandan (2) E.S.L.Narasimhan
(3) N.D.Tiwari (4) Abdul Nazeer
RS woBHAT KIGE 567
(1) DEErded ToBodS (2) RIV.AS SE2DOTR
(3) I3.8. 8378 (4) ©ud $26
149. Who is the present speaker of Andhra Pradesh Assembly?
(1) Thammineni Seetharam (2) Kodela Siva Prasada Rao
(3) Yanamala Rama Krishnudu (4) Nadendla Manohar
BOBIRAT TRIVY PRNE NEF IHE?
(1) $2039 deroo (2) §do SP>rsTYy
(3) oHddoe oSEPE : (4) TBog HFH6

150. According to Dr. Ambedkar, Which Article is the soul of Indian Constitution?
&E6-D.66. woBE)E GYNS® TargoKos’d J VoGS “rEd Trargoio Bl v M

@asgow@.
(1) 31 (2) 32
3) 29 (4) 352

aO000oa
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